[ Efficiency vs vertpos |
- 0.2

20.18F
‘g o
>\0.16_—
O -
50.14_—
[
£0.12
0.1
0.08
0.06
0.04
0.02

III!II—I—!—:’L.—!—I—I—I!II‘II

L coadofel
o +Oj :
= H
S 1A A
@ H
15 B T
0.0 - | FHEE A HF b

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_TTbhase
Efficiend —— pQm_mkFit_TT_retrainOldFiles125

~n 0.2
LT RS O S |

2 I . . . . .
2 0.16f------ FEPEPES | EXPRPRRRS P .| b
) » . : . . .
2 E : : : : :
90-14:_ ------ oo
(8] - .
£0.12----- P
@ r :
0.1------ Peeee

0.08F -+ b .

0.06f -5 |

0.04fF----- PR :

0.02F-+reeeieennns 3

le-

Ratio

e
T

0.9F------ Beeens

%85 =20 -10 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
> R R T B

D e A A cTTTTT i e

€ é : : : : : :

TR S S A
e T Rl A
2 E : : : : : :
o S S S R
[ E : : : : : :

(;) -

%0 =15 -10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


